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1 PE3YJIbTATBI OCBOEHUA JUCHHUITJINHBI

1.1Pe3ynbTaThl OCBOCHUS JUCIUTIIUHBI

Tabnuia 1 — [MmanupyeMble pe3ysbTaThbl OOYYCHHS 110 JUCLMIUIMHE, COOTHECEHHBIE C

YCTAaHOBJICHHBIMH KOMIICTCHIUAMU

Ko 1 HaumeHnoBanue
KOMIIETEHIIUHA

Hucuunnuna

PesynbraTel 00y4eHus (BraaeHus,
YMEHHUSI U 3HAHUSI), COOTHECEHHBIE C
KOMIIETEHIUSIMU

YK-4
COBpPEMEHHBIE

CriocobeH  mpuMEHSTh
KOMMYHHUKATHBHBIE TEXHOJIOTHH,
B TOM qucie
MHOCTPaHHOM(BIX ) sa3bIKe(ax),
TUIS aKaJIeMHUYeCKOro U

Ha

poheccuoHaIbHOTO
B3aUMOJICVCTBHUS

[TpodeccnonanbHbIif
WHOCTPaHHBIN S3bIK

3namo:
- JICKCUYECKHI TTPOPECCHOHAIBHBIN U
HayYHBIN MUHUMYM,
o0OecrieuMBarOIIMi ~ KOMMYHUKALIHIO
YCTHOTO OOIIEHUS;

- TpaMMaTU4yecKHe  MOJEeIu |
KOHCTPYKIIUH, oIpe/ieJICHHbIE
MpaBuIa, o0ecrnieunBaroIye
IpPaMOTHOE COCTaBJICHHE U HAllMCaHHE
nuckMa Ha  IpodeccroHalbHYIO,
HAyYHYIO TEMaTUKY.

- Ymemo:

- CHUCTEMAaTUYECKU

CJIICAUTh 3a

MHOS3BIYHOU Hay4HOU u
npodeccuoHanbHOM  MHpOpMaIe
M0 COOTBETCTBYIOIIEMY MTPOQHUITIO;

- YUTaTh U NOHUMATh 3apyOeKHBIE
NEPBOMCTOUYHUKHU o CBOEMY
HaIlpaBJICHUIO HOJrOTOBKH U
U3BJIEKaTh W3 HHUX HEOOXOJUMbIE
CBEJICHUS;

- 0pOpMIIITH MOJIy4YEHHYIO
uHpopMaLMi0 B yAOOHYIO  JUId
dbopMy B BHUAE
aHHOTAIlMH, NepeBOOB, pedepaToB U

IIOJIB30BAaHUA

T.IL.;
- Bectu Oecely Ha HWHOCTPaHHOM
S3bIKE, CBS3aHHYIO C Tmpodeccuei,
Hay9HOW paboTO W TIOBCETHEBHOM

JKU3HBIO

Brnaoemw.

- CBSA3aHHOM JHMAJIOTHYECKOM |
MOHOJOTHYECKOM peubro c
HUCIIOJIb30BaHUEM HanOoJee
YIOTPeOUTETHHBIX JIGKCUKO-
rpaMMaTHYECKUX CpENCTB B
OCHOBHBIX KOMMYHUKATUBHBIX




Pesynbrarel 00yueHus (BIagcHHs,
Kon n naumenoBanue
JucuummnHa YMEHHUSI U 3HAHUS), COOTHECEHHEIC C
KOMITETCHITHH

KOMIIETCHITHSIMH

CUTYaIHSIX npodeccuoHaIbHO-
Hay4YHOTO u 0011e0BITOBOTO
OOIICHUS; - HABBIKAMH ITOHMMAaHUS,
W3BJICUCHHS u 00paboTKu
uHpopManui W3 JUTEpaTyphl Ha
npoecCHOHAILHYI0O ¥ HAYYHO-
poeCCUOHATILHYIO TEMATHKY;

- HaBBIKAMU  COCTaBICHHUS W
HamucaHuss  ¢akca,  CIyKeOHOTro
nuckMa  (COy)KeOHOW  3amuCKH),

JOKJIaaa.

1.2. K o11eHOUHBIM CpeACTBaM TEKYIIETO KOHTPOJIS YCIIEBAEMOCTH OTHOCSTCS:

- TECTOBBIE 331aHUs1 OTKPBITOTO U 3aKPBITOI'O TUIIOB;

- 3a/1aHUA IO KOHTPOJIbHOMU padoTe (11 3a04HON (HOPMBI OOYUECHHS).

K omieHouHBIM cpeicTBaM /ISl MPOMEKYTOYHOM aTTECTAllUN OTHOCSTCS:

- 3aJIaHusl 10 IUCIMIUIMHE, TPEJACTABICHHBIC B BUJIE TECTOBBIX 3aJIaHUI 3aKPHITOTO H
OTKPBITOT'O THIIOB.

ITpomesxyTouHas aTTecTalys IpOXOoaAUT B OopMe 3aueTa IO pe3ysbTaTaM MPOXOXKIACHUS
BCEX BUOB TEKYIIETO KOHTPOJIS YCIIEBAEMOCTH. B OTIENBHBIX ciydasx (MpH HE MPOXOKIACHUU
BCEX BHJIOB TEKYIIETO KOHTPOJISI) MPOMEKYTOUHAS aTTECTallds MOJKET OBITh MPOBEICH B BUJC
TECTUPOBAHUS.

1.3 Kputepuu o1ieHKH pe3ynbTaTOB OCBOSHUS TUCIMITIIMHBI

VYHuBepcanpHasi CUCTEMa OLIEHUBAHUS PE3yIbTaTOB 00YUEHHUs BKIIOYAET B C€0S1 CUCTEMBI
OLICHOK: 1) «OTIIMYHO», «XOPOIIO», «YyIOBIECTBOPUTEIHHO», «HEYJOBICTBOPHTEIBHO»; 2)
«3auTeHo», «He 3auTeHo»; 3) 100 — OanIbHYIO/IPOLEHTHYIO CHUCTEMY U TpPaBHIJIO MEpeBoja
OLIEHOK B MATHOAIBHYIO cUcTeMy (Talu. 2).

Tabnuma 2 — CucrteMa OlIeHOK U KPUTEPUU BBICTABIICHUS OLIEHKU

Cucrema 2 3 4 5
OIIEHOK 0-40% 41-60% 61-80 % 81-100 %
«Heyuonnﬂe;?opnTem, «ynoeljie:(i?p“T «XOPOII0» «OTJIHYHO»
Kpurepuit «HE 3a4YTEHO» «3aYTEHO»
1 Cucremuocth | Obnmamaer Ob6manaer O6mamaer wHabopom | Obnmamgaet
M MOJHOTA YaCTUYHBIMU U | MUHUMAaJIbHbIM 3HAHWM, IOJTHOTOM 3HAHWHU
3HAHHUH B Ppa3pO3HEHHBIMU HaObOpOM IOCTAaTOYHBIM ISl | U CUCTEMHBIM




Cucrema 2 3 4 5
OIIEHOK 0-40% 41-60% 61-80 % 81-100 %
«HeyHOBﬂ:;?OpHTeﬂb «yIIOelj]J:)eHT::pHT «XOPOIII0» «OTJIHYIHO»
Kpurepnii «He 32a4TEeHO0» «3aYTEHO»
OTHOLIECHHUH 3HAHUSAMH, KOTOpBHIC | 3HAHHH, CHCTEMHOTO B3IISIAA | B3TIISIOM Ha
U3y4aeMbIX HE MOXET HayYHO- | HeOOXOIUMBIM Ha M3y4aeMbIi | N3y4aeMbIil 0ObEKT
00bEKTOB KOPPEKTHO CBSI3BIBATh | JUISI CUCTEMHOTO | OOBEKT
MEXIy co0oil (TONBKO | B3TIsAa Ha
HEKOTOpbIE U3 | U3y4aeMblil
KOTOPBIX MOXKET | OOBEKT
CBSI3bIBaTh MEXITY
c000it)
2 Paoora ¢ He B  cocrosaum | Moxer Haitu | Moxer Halitn, | Moxer HalTH,
uHpopManueil | HAXOAUTH HEOO0XOUMYIO WHTEPIPETUPOBATh M | CUCTEMATH3UPOBAT
HEOOXOUMYIO UHGPOPMAIUIO B | CHCTEMAaTH3UPOBATh | b  HEOOXOIMMYIO
uHpOpMAIHIio, MO0 B | paMKax HE00X0UMYIO nHpopManmio,  a
COCTOSIHMM ~HAXOJUTh | IIOCTABIICHHOM UH(pOPMAITUIO B | TaKkxke BBISIBUTD
OT/eIbHbIC 3aJa4uu pamkax HOBBIE,
(dbparMeHTHI IMOCTaBJICHHOI JIOITOJTHUTCIbHBIC
nHpOpMAITUN B 3a7a4n HCTOYHHKU
paMKax IOCTaBJICHHOMN UHGpOPMAIUH B
3a7a49u pamKax
MIOCTaBIICHHOM
3a1auu
3 Hayunoe He wmoxer nenarts | B cocrosiHuu | B cocrostHuu | B COCTOSIHUU
OCMBbICJIEHHE HAyYHO KOPPEKTHBIX | OCYIIECTBISATH OCYIIECTBIISTh OCYIIECTBIISTh
H3y4aeMoro BBIBOJIOB U3 | HAy4HO CHCTEMATUYCCKUI M | CUCTEMAaTHUYECKUM
sIBJICHHS, UMEIOIIUXCS Yy HEro | KOPPEKTHBIH HAYYHO KOPPEKTHBIN | U HAY4YHO-
npoiecca, CBEJIICHHUM, B | aHAIHU3 aHajan3 KOPPEKTHBIN
00beKTa COCTOSTHHH MPEIOCTAaBIIEHH | MPEIOCTaBICHHON aHam3
MPOAHAJIN3UPOBATH oit uaopmaiuu | nHpopMaIuy, MPEI0CTABJICHHON
TOJIbKO HEKOTOpBIC M3 BOBJICKAET B | uHpOpMAaIUH,
UMEIOIINXCS Y HETO HCCIIEIOBAHME HOBBIC | BOBIIEKAET B
CBEACHUN peneBaHTHBIE 3ajlaue | UCCIEIOBaHUE
JIAaHHBIE HOBBIE
peneBaHTHBIC
IIOCTaBJICHHOM
3a7a4e JIaHHBIE,
npejiaracT HOBBIC
pakypchl
MOCTaBJICHHOM
3aa49u

2 OIEHOYHBLIE CPEJACTBA JUIS TEKYIIEN# M MPOMEKYTOYHOI1

ATTECTAIIMN

Komnerenis

TCXHOJIOTHH,

VYK-4:

npo(hecCHOHATLHOTO B3aUMOICHCTBUS.

CnocobeHn

IMPHUMCHATH

COBpPEMEHHBIE

TecToBBIE 32JJaHUSA OTKPBLITOI0 THIIA

1. Complete the sentence:

KOMMYHUKATHBHEBIC

B TOM 4YHCJIIC Ha I/IHOCTpaHHOM(LIX) ;13511<e(ax), 1 aKaaCMHUYCCKOI'0 H




Economics is a discipline which is divided into two broad branches:

OTtBer: Microeconomics and macroeconomics

2. Complete the sentence:
Economic resources are also called

Orser: factors of production

3. Open the brackets, use the proper verb form:

GDP is a market value of all final goods and services (to produce) within the country
in the given period of time.

Otset: produced

4. Open the bracket, use the proper tense form:

All major economies are mixed economies in the sense that some decisions (to make)
by the individuals and some are made by the governments.

Oteer: are made

5. Study the definition and complete the sentence:

A place where two parties, usually buyers and sellers, can gather to exchange goods and
services is called

Oteer: a market

6. Study the definition and complete the sentence:

An economic system where two forces, known as supply and demand, direct the production of
goods and services is called

Otget: a market economy

7. Find what has changed about the meeting. It will take place .....

To: Department Heads
From: General Manager
Subject: Monthly meeting

This is now in the Operations Room instead of the Boardroom. Date
and time remain as scheduled. Please don’t be late.

OTBert: ...in different location.



8. Read the text and find the sentence pointing at what B2B and B2C have in common.

B2B versus B2C
B2B stands for Business to (2) Business and refers to a Business selling goods or services
to another Business. In the B2C (Business to Customer) model, the end user is an
individual.
The result is the same for the company; they sell their product or service. However, the
Business Model and the Marketing strategies are quite different.
A simple example is a farmer who grows strawberries. He can sell his entire crop to a
retailer or distributor for a discounted price, in one easy transaction (B2B). Or he can set-
up a small farm shop and sell punnets of strawberries to individual consumers at a higher
price (B2C). The B2C model generates more money for his strawberries but requires a lot
of his time.
With the B2B model, the Business needs to set-up long-term, trusted relationships with
other Businesses. The B2C model requires marketing, brand recognition and advertising
to attract customers.

Oteet: The result is the same for the company; they sell their product or service.

9. Given what you've learned from the text “B2B versus B2C”, complete the sentence:

If the farmer creates a shop and sells strawberries to passing customers, his Business model is

Ortser: B2C

10. Given what youve learned from the text “B2B versus B2C”, complete the sentence:
If the farmer sold his crop of strawberries to a Supermarket, his Business model would be :

Orser: B2B

11. Given what you've learned from the text “B2B versus B2C”, complete the sentence:
Marketing is suggested as a method of attracting customers for

OtBer: B2C

12. Read the tips for oral presentations. Cross out two of the list.
a - Use the planning time to prepare what you’re going to say.
b - Use short, simple sentences to express your ideas clearly.
¢ - Use more formal language.

d - Use very informal language.

e - Make your opinions very clear. Use expressions to give your opinion.



f - Write out the whole presentation and read it aloud.

Otser: C,f

13. Agree or disagree with the following sentence: FINEFOODS delivers goods all over the
country.

Job oppertunity: FINEFOODS
Description:

Agent reguired for natiomwide distribution. Same
experience in food retail an advantage. Refrigerated
van provided.

Otser: Yes, it does.

14. Read the text and find out what a start-up is: A start up is

To Start-up or not?

A Start-up is a new business that has just begun. Starting a new business is difficult and Start-
ups are very vulnerable trying to compete with more established companies in the Business
world.

New businesses are often started in a bedroom or home office. Mark Zuckerberg created
Facebook from his Harvard dormitory. Steve Jobs started Apple in his father’s garage.

It is difficult for a new business to get funding. Some use a Crowd-funding platform like
Kickstarter, where many people invest or donate a small amount of money.

50% of new businesses will fail in the first five years. 25% will fail within the first year. The
number one reason is that they offer a product or service that people don’t want. Other
reasons for failure include financial fraud and a lack of managerial experience.

But what about the ones who succeed? Uber started in 2009 and today has an estimated value
of $62.5 billion.

OTtgert: a new business

15. Given what you 've learned from the text “To Start-up or not?”, complete the sentence:
is a Crowd-funding platform.

Otser: Kickstarter

16. Given what you 've learned from the text “To Start-up or not?”’, complete the sentence:
started in a university bedroom.

Oteert: Facebook

17. Given what you 've learned from the text “To Start-up or not?”, complete the sentence:
Uber is worth today?



Otset: $62.5 billion

18. Given what you 've learned from the text “To Start-up or not?”, complete the sentence:
of new businesses fail within 12 months.

OrtBer: 25%

19. Find what you must do to finish the contract.
To finish the contract you must

NOTICE TERMS
To end the contract, one month’s written notice (by post not e-mail)
is required. Telephone communications are also unacceptable.

Otset: Write to the company in advance / send a letter by post

20. Read the text and find out which country has the largest GDP in the world.

Gross Domestic Product (GDP)

Gross Domestic Product (GDP), or the measure of all the products made, services offered, and
business conducted in a country over a set period of time, is another one of those business terms
that’s frequently referenced but seldom understood. Once again, GDP is simply a calculation of
the business that’s taken place in a country annually. The United States, for example, has the
largest GDP in the world, thanks to its free market and large population; other nations have solid
GDPs as well, and the exact number usually corresponds to its country’s economic system,
development, natural resources, education, and more.

Similarly, the process of calculating GDP is simple. GDP is comprised of “private consumption
+ total investments + government investments + government spending + the value of exports
minus imports.” In other words, gross domestic product, which is once again the measure of all
the business that’s taken place in a country over a period of time, is determined by adding
together money spent on private consumption, personal investments, government investments,
government spending, and the value of exports (minus imports, so that the total reflects the trade
agreements that give money to the country at-hand).

Lastly, nominal GDP refers to a specific year’s gross domestic product purely in terms of
production, while real GDP accounts for inflation.

OrBer: the USA
21. Given what you’ve learned from the text “Gross Domestic Product”, say what Qross
domestic product (GDP) is.

Gross domestic product is

Oter: the measure of all the products made, services offered, and business conducted in a
country



22. Given what you ve learned from the text “Gross Domestic Product”, explain how GDP is
calculated.

GDP is calculated by adding together consumption, investment, government spending and

OTtsBet: net export

23. Given what youve learned from the text “Gross Domestic Product”, explain the main
difference between nominal and real GDP.

Real GDP accounts for

Otset: annual inflation

TecToBbIE 3aIaHUS 3AKPLITOI0 THIIA

24. Choose the correct option (a, b, c) to complete the text passage:

Pro-Chic was a (A) company with a customer base of about 250. Its founder, Biruta
Delinskiene, was a (B) fashion designer with a lot of good ideas. She specialized in smart,
practical clothes that could (C) to business women.

A a set-up b starting c start-up

B a talented b targeted c weak

C a appeal b target c feature

Ortser: Ac, Ba, Ca
25. Match the two halves of the phrases for describing graphs:

A - I’d like you to look at...

B - Turnover increased from 3 billion...
C - The volume of sales went up by...
D - It then reached a peak...

a - of two thousand.
b - to 3.3 billion.

C - this graph.

d - 2003.

e -one percent.

Otser: Ac, Bb, Ce, Da
26. Re-order this conversation between a supplier and a shopkeeper. Start with “c”.

a_ Today’s best.

b OK. I'll arrange for another box.



¢ Hi. I’ve got a problem I’m afraid. You delivered some tomatoes this morning but

they’re damaged.
d_ Then I’ll bring it right now.

e The point is that I can’t sell them. Now there are two possibilities. You could either

refund me the money or you could bring me another box.
f__ When will | get it?
g Oh I’m sorry about that.
h___ Istoday better for you or tomorrow?

I___Thanks a lot.
OtBer: C,g,e,b,f, h,ad,i

27. Put useful phrases for oral presentation (a — 1) in the correct groups (A — D).

A — introducing your presentation a— first of all,...
B — ordering your presentation b — I"d like to talk about...
C — adding more ideas ¢ — In conclusion, ...

D — adding ideas from a different point of view d —however, ....
e — then again, ...
f—secondly, ...
g — what’s more, ...
h —also, ...
I — The topic of my presentation is...
j —in addition, ...
k —I” m going to talk about...
| — on the other hand,...

Oteer: A-Db,i,k; B-a,cf; C-g,h,j; D-d,el

28. Match the descriptions and the bar charts.

A B C

p LI
a - rose steadily d — increased dramatically
b — fell dramatically e — remained level
c — fell steadily

Otser: Ad, Ba, Cb, De
29. Describing pie-charts: Match the numbers (a- f) with the phrases (A — F).

A....... nearly a third a- 100%
B....... just over half b- 85%



C........ about three-quarters c- 76%

D........ a small minority d- 52%

E........ the vast majority e- 31%

F....... all f- 4%
g- 0%

OTtser: Ae, Bd, Cc, Df, Eb, Fa

30. Put the names of parts of a report (a —f) in order:

a— conclusion d - summary
b - main text e - introduction
c - title page f - contents

Otser: C,d,f, e b, a

31. Match the names of parts of a report (A — F) with the descriptions (a —f).

A - title page a — list of page numbers, illustrations and charts

B — summary b — all the facts, information and data

C — contents ¢ — what the report is about and where the information comes from
D —introduction d — what the report is called and the author’s name

E — main text e — a short description of the key points and any action required

.................. f — recommendations and ending

Otser: Ad, Be, Ca, Dc, Eb

3 TUIIOBBIE 3ATAHUSA HA KOHTPOJIBHYIO PABOTY

Y4eOHBIM TUTAHOM JIS CTYJIEHTOB 3a0YHOTO OTJEICHHUSI MPEIYCMOTPEHO BBITOJTHEHUE
OJIHOW KOHTPOJILHOW PabOTHI.

3amaHus  KOHTPONIBHOM  pabOThl  HampaBlIeHbl HA  pa3BUTHE H  KOHTPOJb

KOMMYHUKATUBHBIX WHOSI3BIYHBIX HABBIKOB. OHM BKIIIOYAIOT JIEKCUKO-TPAMMATHYECKUN TECT
(3amanus 1-3) ¥ BIMOJIHEHHE 3aJ]aHUM TI0 COJICPIKAHUIO TeKCTa (3amaHus 4-5).

[TonoxuTenpHas OLEHKA «3a4T€HO» BBICTABJISETCS NMPU MPaBUIbHOM BbloiHeHUH 20 u3 30

COJIEpXKAIINXCSI B KOHTPOJIBHOM paboTe 3aaHMmil.

Tunossle 3alaHUs 1JIA BBIIIOJIHCEHUSA KOHTpOJIbHOﬁ paﬁoTbl MIPUBCACHBI HUXKC!

1 Underline the correct word in brackets.

1 They set (out/ down / up) a new division to deal with overseas trade.
I went to the shop but it’s sold (off / out / in) of coffee.

Your children are really growing (out / off / up), aren’t they?

I’m sorry but the water has run (out / off / along) in this machine.

a b W N

His father built (on / over / up) the company from nothing.



6 Human Resources say we need to take (on / off / up) ten new staff.
7 She’s looking (up / for / out) a new position.

8 It could take five years to pay (into / off / by) this personal loan.

2 Tick the correct word from a, b or c.

9 Theroad into Dubai are excellent.

a) building b) links c) works
10 I live in an apartment
a) flat b) office c) block

11 The country enjoys a strong

a) economy b) inflation c) infrastructure

12 Our main problem is low

a) taxation b) unemployment C) wages
13 My son is on a work in the USA for three weeks.
a) placement b) apprenticeship C) scheme
14 We could the job ad on the Internet.
a) search b) post c) supply
15 The new strategy is to consumers over Sixty.
a) worth b) target c) aim
16 High- executives might be interested in this type of luxury product.
a) consuming b) outgoing C) earning

3 There is an extra word in each sentence. Cross it out and then write it at the end.

17 TI’m busy at the moment so I’ll try going to call her back this afternoon.

18 They are going to opening the new hotel later today.

19 We’re will leaving at nine tomorrow morning.

20 The company is going to being expand operations into South America.

21 To check that your application form is filled in correctly before you send it.

22 Pass to me that book please.

23 If anyone isn’t sure, just you ask for help.

24 Do not don’t enter.

4 Read this extract from an article on business travel.

The art of travelling light

There are so many limits to travel now such as your luggage must not be over a certain weight or
you’re only allowed to carry one carry-on. But it’s strange that any of us need any luggage at all
these days. The other week | learned just how little I had to carry when | visited New York on

business but the airline sent my bag to Atlanta. My first reaction was ‘Disaster!” How will I



manage? | have to have a change of clothes. What will | do without my file of papers for a
meeting?

Well, my hotel provided soap, toothbrush, towels and shampoo. I had to use the hotel’s overnight
cleaning service but it meant I didn’t need to bring a change of clothes. And all my papers were
on my laptop. So apart from the advice that you should take your laptop — or preferred piece of
technology — on board here’s my complete list of what you shouldn’t bother with on your next
trip...

5 According to the article are these statements are true (T) or false (F)?

25 Airlines say your luggage doesn’t have to be over the weight limit. ()

26 You must carry one bag onto the plane. ()

27 The writer thinks we don’t need to take luggage. ()

28 He was allowed to use the hotel cleaning service. ()

29 It isn’t necessary to have a change of clothes. ()

30 It’s a good idea to take your laptop on the plane. ()



4, CBEIJEHHUA O ®OHAE OHLEHOYHBIX CPEIACTB UM EITO
COI'VTIACOBAHUHA
@OoH/ OIEHOYHBIX CpPEACTB Ui arTectamuu no aucuumiuHe «IIpodeccrnonambHbIit
WHOCTPaHHBIA S3BIK» TMPEJICTaBIsIeT COOOW KOMIIOHEHT OCHOBHOW mpodeccHoHaTbHON
00pa3zoBaTeNbHONM MpPOTpaMMbl MarucTparypbl 1O HampabieHuro mnoarotoBku 38.04.02
MeHemKMeHT (mporpaMmma MaructpaTypbl «CTpaTernieckoe yrpaBieHUE IEPCOHATIOM).
[IpenonaBatens-pazpabotuuk — K.¢.H., gonent Jlorynosa E.A.
@DOH/T OLIEHOYHBIX CPEJICTB PACCMOTPEH U 0JJOOPEH 3aBeAyoUIM Kadeapoil HHOCTPaHHBIX
A3BIKOB. )
3aBeqyromuii Kageapoi 'é;fﬂ"’/// I'.I1. Kopanosa
DOH/T OLIEHOYHBIX CPEICTB PACCMOTpEl 1 010OPEH Ha 3aceIaHHH KaheIpbl MCHEKMEHTA

(mpotokoia Ne 11 ot 14.05.2024 1.).

) A .

0 é ‘7‘[/}\ B. B. Jlopodeesa

3aBenyromuii kadenpoit M

@DOHJT OICHOYHBIX CPEJICTB PACCMOTPEH H OJOOPEH METOIUYCCKOW KOMHUCCUEH
NHOTO3KY (mpotoxon Ne 5 ot 20.05.2024 ).
@DOHJT OLICHOYHBIX CPEACTB aKTyaJHU3WPOBAaH, PACCMOTPEH U OJOOPEH METOAUYECKOU

komuccueit THOTOKY (mporokon Ne 8 ot 28.08.2024 1).
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